RAM® SUN VISOR ASSEMBLY GUIDE

I Sl

PARTS INDEX:

A. RAM® SUN VISOR SCREEN (QTY. 1)

B. RAM® 1” BALL BASE WITH VISOR CLIP (QTY. 1)
C. #6-32 X 2" MACHINE SCREW (QTY. 3)

D. #6-32 NYLOCK NUT (QTY. 3)

1. CAREFULLY PEEL LABELS FROM BOTH SIDES OF (A) SUN VISOR TO EXPOSE SCREEN.
RECOMMENDED: BEGIN PEELING FROM THE CORNER WITH THREE HOLES.

2. POSITION (B) BALL BASE OVER CORNER 3. ATTACH (B) BALL BASE TO (A) SUN VISOR
OF SUN VISOR, ALIGNING THE THREE HOLES. SCREEN USING (C) SCREWS AND (D) NUTS.

KB lfA

RAM Mounting Systems CAUTION: TO AVOID SCRATCHING YOUR SUN VISOR,

8410 Dallas Ave S USE ONLY CLOTH AND NON-AMMONIA CLEANER

Seattle, WA 98108 WHEN CLEANING SUN VISOR.

Phone: (206) 763-8361

Fax: (206) 763 9615 DO NOT USE PAPER PRODUCTS OR TISSUE TO M OUN TS

www.rammount.com

support@rammount.com WIPE SUN VISOR. RMR-INS-393

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.

RAM® SUN VISOR ASSEMBLY GUIDE

.

PARTS INDEX:
A. RAM® SUN VISOR SCREEN (QTY. 1)
. RAM® 1” BALL BASE WITH VISOR CLIP (QTY. 1)

B
C. #6-32 X 2" MACHINE SCREW (QTY. 3)
D. #6-32 NYLOCK NUT (QTY. 3)

1. CAREFULLY PEEL LABELS FROM BOTH SIDES OF (A) SUN VISOR TO EXPOSE SCREEN.
RECOMMENDED: BEGIN PEELING FROM THE CORNER WITH THREE HOLES.

2. POSITION (B) BALL BASE OVER CORNER 3. ATTACH (B) BALL BASE TO (A) SUN VISOR
OF SUN VISOR, ALIGNING THE THREE HOLES. SCREEN USING (C) SCREWS AND (D) NUTS.

KB /A

RAM Mounting Systems CAUTION: TO AVOID SCRATCHING YOUR SUN VISOR,
8410 Dallas Ave S USE ONLY CLOTH AND NON-AMMONIA CLEANER

Seattle, WA 98108 WHEN CLEANING SUN VISOR.

Phone: (206) 763-8361

Fax: (206) 763-9615 DO NOT USE PAPER PRODUCTS OR TISSUE TO M OUN TS

www.rammount.com

support@rammount.com WIPE SUN VISOR. RMR-INS-393

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.



	Page 1

